
Today...

• Approximations and the shapes of graphs.

• Hill functions.

• Motivating limits: secant lines, tangent lines.



Which of the following is a safe 
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(A) If a is small then we can say a ≈ 0.
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(C) If a is small then we can say a+b ≈ b.

(D) If a is small compared to b then we can 
say  a+b ≈ b.
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in the rest later in the 

semester.
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If we take h values closer and 
closer to 0...

• The secant line approaches the tangent line.

• The slope of the secant line approaches the 
slope of the tangent line.

• We call the resulting slope the derivative at x1.

• We now have to learn how to take limits!

slope at x1 = f �(x1) = lim
h→0

f(x1 + h)− f(x1)
h


